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Polygon and Codeforces will be possibly unavailable in the period between Mar. 16, 16:00 (UTC) and Mar. 17, 08:00 (UTC) because of maintenance. X

— Pay attention

Codeforces Round #707 (Div.1, Div.2, based on Moscow Open
Olympiad in Informatics, rated)

Before contest
Codeforces Round #708 (Div. 2)

By ch_egor, 43 hours ago, translation, =]
Hello!
Right now happens the first tour of the Open Olympiad in Informatics, and tomorrow will be the second one. This contest is prepared by
Moscow Olympiad Scientific Committee that you may know by Moscow Team Olympiad, Moscow Olympiad for Young Students and

Metropolises Olympiad (rounds 327, 342, 345, 376, 401, 433, 441, 466, 469, 507, 516, 541, 545, 567, 583, 594, 622, 626, 657, 680, 704).

Open Olympiad consists of the most interesting and hard problems that are proposed by a wide community of authors, so we decided to

4 days
One person likes this. Sign Up to see
St i frimm i i

— lzwjava

. Rating: 1495
¥ Contribution: 0

conduct a Codeforces regular round based on it, which will happen on Saturday, March 13, 2021 at 17:05v7°+¢ and will be based on both : %ﬁ
days of the Olympiad. Each division will have 6 problems and 2 and a half hours to solve them. o Teams Izwjava
e Submissions
* Favourites
We kindly ask all the community members that are going to participate in the competition to show sportsmanship by not trying to o Talks
cheat in any manner, in particular, by trying to figure out problem statements from the onsite participants. If you end up knowing ¢ Contests
some of the pi of Open Olympiad (by particij in it, from some of the onsite contestants or in any other way),
please do not participate in the round. We also ask onsite cor to not di bl in public. Failure to comply with
any of the rules above may result in a disqualification.
— Top rated
Problems of this competition were prepared by Akulyat, , wrg0ababd, Nebuchadnezzar, isaf27, # User Rating

ismaailov.code. auided bv cdkrot. vintaae Vlad Makeev. GlebsHP. Zlobober. meshanva. ch eaor.

oooooo 1 oo

1480. 18} R ax1 = gt
guT &1 faaror

sum(nums [0]..nums [i])

Uch TR nums & Tlé %I Eﬂ Uch 7-|§ TRoft runningSum SIEGI| % SE] runningSum[i] =
gl

JETE0T 1:
nums = [1,2,3,4]

: [1,3,6,10]
: : [1, 142, 1+2+3, 1+2+3+4]
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BUE: 65.0% IERIRZ: 14493 SR 26372 AT =BT
ERT2 RT3
TRTARET RET2
TI002 HHDER G P N
2873 RETAEE
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C—LeetCode Explor Problems Mock Contest Discuss & Store W

v “ e

CEEEDD - D (D CID Pick One 33 Q
Weekly Contest 232

Sunday, Mar 14
2:30 - 4:00AM UTC

ime event to win giveaway! [§/ x ﬁm Premium ] L’_+' Lo e

Category - All

LeetCode's

Pick

Daily Challenge

Search question titles, description or IDs 2 Difficulty v Status v Lists v Tags v
# Title Solution Acceptance Difficulty Frequency @
1757 Recyclable and Low Fat Products & 96.1% D a Biweekly Contest %
1741  Find Total Time Spent by Each Employee & 90.9% @ a N
1693 Daily Leads and Partners & 90.9% D a
1683  Invalid Tweets & 90.8% [ Easy ] a
1119  Remove Vowels from a String & 90.5% [ casy ] a Ll Your Progress
1350  Students With Invalid Departments & 90.3% D a Session: Anonymous Sessi.. #
1378 Replace Employee ID With The Unique Identifier & 90.1% @ a
1587 Bank Account Summary Il & 89.8% @ a
1571 Warehouse Manager & 89.8% @ a
1303  Find the Team Size @ 89.6% [ casy ] a
1581  Customer Who Visited but Did Not Make Any Transactions & 89.6% [ Easy a

0oo0ooo 3: Dboooooa



JEIgI0T 2:

: nums = [1,1,1,1,1]
[1,2,3,4,5]
[1, 1+1, 1+1+41, 1+1+1+1, 1+1+1+1+1]

JETEI0T 3:

: nums = [3,1,2,10,1]
[3,4,6,16,17]

ufqeier: -1 <= nums.length <= 1000--10"6 <= nums[i] <= 1076

HATY

&Y 3U AT il Yeh FTURUT U ohT ITTNT chich 81 e Tohd & | §H Teh 718 ARUM runningSum TG 3R Ul S5
R fUset Gt gt o ar Siist

class Solution:
def runningSum(self, nums: List[int]) -> List[int]:
runningSum = []
current_sum = 0
for num in nums:
current_sum += num
runningSum. append(current_sum)

return runningSum

aqrEgt

1. W@@?ﬁ@rumningSummgaﬁ?wmﬂ current_sum @l 0 TR < &d |
2. &9 nums TR0 & UAH I ol oI hd Bl

3. U dcd i current_sumﬂﬁﬁ?;?f%aﬁisﬁrunningSumGjﬂﬁ\_rﬁE_?rgl

4. 3faH, runningSumﬂ?ﬁaﬁFﬁaagl

g gurYT 0(0) 99 Sifeetar & =retar &, STef 0 Txof} & dars 81



Ueh TRON nums & 7S §1 g9 T TRoft @1 T Al (0000000 000) 39 UhR uRMIfvT &d §:

runningSum[i] = sum(nums[0]..nums[i]) |

nums EF[?ﬁ"Tﬁ"TFﬁ?IQI

class Solution:
def runningSum(self, nums: [int]) -> [int]:
running = []
s =0
for num in nums:
S += num

running.append(s)

return running

g9 B H, Solution A Yk T ¢ oI runningSum 17 Yeh AYS g1 g AYS U 3-1YC foIe nums a1 & 3R
@ﬁmrunningmmél runningf?fl?(".’ﬁnums foree & acal o1 shmsT: I (0000DOC Do) BT gl

1. running@@?ﬁm%mﬁﬁ?ﬁﬂmaﬁ@?ﬁl

2. s oh ARUEH g STt IR hl ok el &, Yo A T8 0 81

3. for@qnumsmﬁﬂ?aaaﬁmgaﬁ?@sﬁmgl

4. RIR G s 3(TS< gIaT §, df IY running forke H Sits fear Smar &1
5. Giﬂﬁ,runningmiﬁmaﬂmm?ﬂ

3eTeX0T & foig, afd nums = [1, 2, 3, 4], dl runningSum Y3 [1, 3, 6, 10] JTUH HATI
print(Solution() .runningSum([1,2,3,4]))

UGl U U gl TRl

1108. 00 T34 ! 2477 &

Teh (10 T34 ! f30T ot o1 Adrd & foh ggu d Hisie a+ft gicd (1) &t [.] O 9&a1 &11 I8 JRam hrRon I forar srar
g d1fch 00 U39 &l ¢ave & ¥4 # FRied U § wafiq fovar 51 9o

IeTeXuT & foiy, afe D0 U89 192.168.1.1 8, A1 39 3T A & 91 a8 192[.1168[.11[.11 & SITQm|
guQT o1 faaror
3U<ht Yok a9 0004 U9 feam mam g, 3R Siueht 38 3t &t 8|

4
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( LeetCode Exp\or Problems Mock Contest Discuss

& Description & Discuss (999+) ® Submissions

Success Details >

Runtime: 80 mS, faster than 5.18% of Python3 online submissions for Running Sum of

1d Array.

Memory Usage: 14.5 MB, less than 45.43% of Python3 online submissions for
Running Sum of 1d Array.

Next challenges:

(Maximum Average Subarray II) ‘\ Squares of a Sorted Array /

Show off your acceptance:

000

Time Submitted Status Runtime Memory Language
03/14/2021 00:47 Accepted 80 ms 14.5 MB python3
03/14/2021 00:43 Runtime Error N/A N/A python3

= Problems % Pick One < Prev | 1480/1788 Next >

3&TeXol

JeTgor 1:

Input: address = "1.1.1.1"

Qutput: "1[.J1[.J1[.]1"

JETg0T 2:

Input: address = "255.100.50.0"

Qutput: "255[.]1100[.]50[.]0"

HATYT

1§/ Limited time event to win giveaway! [§/ x ‘

Python3
1 class Solution:
2 def runningSum(self, nums: [int]) -> [int]:
3 running = []
4 s=0
Sv for num in nums:
6 S += num
7 running.append(s)
8
9 return running
10
11 #print(Solution().runningSum([1,2,3,4]))
Console -~ Contribute i

aoooooo 4: 00

]

U GHT Al g B3 & oIy, 89 Weaam 9 00 Ugd | Higg 9t Sicd &l [.] ¥ 9&dl 9ohd 1 I & 000000 &
replace () RUE T IYTNT ehch AT & fohaT ST Tepar &1

def defangIPaddr(address: str) -> str:
LY

return address.replace('.',



Y R | sifeddr

0 @wa sifeerar: 0(0), Stei 0 3¢ & &Y derd 81
0 T sifeerar: 0(0), it g9 U ¢ G a1 @ &

gtafor
37T3T IURIeRT GHTE bl T 71T ISTEROT TR ULI&T0T e

print (defangIPaddr("1.1.1.1"))
print (defangIPaddr("255.100.50.0"))

g GHIY Tl 3R Ul 8, 3R I8 gu@r &t 0(0) 999 § &1 Sl g1

U a9 (0004) 00 address fear mar 8, 39 00 ud &1 Ues fthes (00000000) HEh0T Alerg|
U fethss D0 uaT g fiRgs . v &t " [.]" @ ST T &1

class Solution:
def defangIPaddr(self, address: str) -> str:

return address.replace('.', '[.]1")

Ig i Ton 00 T4 ot “fSth” oea &, foreent aref & ok 3o Hiig aofi Sicd () ot [ ] @ &t fam S 81 Iarexor
Fforg, "192.168.1.1" @l "192[.1168[.]11[.11" F & f&ar SrQm|

00000(0000o000().000000000000(*1.1.1.17))

## 1431.
*k  Dkk
‘n’ “candies” s “candies[i]~ “i°-
“result” s “result[i]™ “true’ it “extraCandies”
*% kK
*% 1:%%

“extraCa



00000: 0000000 = [2,3,5,1,3], 000000000000 =3 000000: [0000,0000,0000,00000,0000]

k% 2 kk

- 3 , 5 )

- 3 ; 6 ,

- 3 , 8 )

- 3 ) 4 >
- 3 , 6 >

* %k 2 %k%x

00000: 0000000 = [4,2,1,1,2], 000000000000 =1 000O0O: [0000,00000,00000,00000,00000]

ok DKok
ok s Rk
*T “python

def kidsWithCandies(candies, extraCandies):
max_candies = max(candies)
result = []
for candy in candies:
if candy + extraCandies >= max_candies:
result.append(True)
else:
result.append(False)

return result

quy Sifeerdar: 0(0), STgi n a<ai i 9= g1
g Sifeerdar: 0(0), wifeh 89 Uah T3 TRoft result SF138 €1

fear mar & TRofY candies Gﬁ?U;UTT?F extraCandies, STgT candies[i] *0d* aﬁ%w%ﬁﬁﬁ
AT ol E ATl B

mﬁ%%’qaﬁﬁ?WextraCandies ﬁaﬁ%ﬁawmﬁaﬁa%mmm%ﬁ?a—gm
Y g 4fAer St 7@ Toh | &M < ok U & aifdes o= gard oifdres &l @ gahd 81



class Solution:
def kidsWithCandies(self, candies: [int], extraCandies: int) -> [bool]:
max = 0O
for candy in candies:
if candy > max:
max = candy
greatests = []
for candy in candies:
if candy + extraCandies >= max:
greatests.append(True)
else:
greatests.append(False)

return greatests

g AT H, Solution ATHE Teh I & fOH kidsWithCandies ATHG Yeh AYE &1 g AYS &Y 3IYC AdT & candies
(WWWW@%W@E&@H@TM@ 3R extraCandies (WW@W%&@G@T@
AT )|

1. UEF},?T&'candies%?ﬁ@ﬂa@maﬁﬁiﬁm(max)iﬁmgl

2. ﬁh_{,21'5’candiesm%maﬁ}aﬁ%’qwgﬁﬁwmwextraCandieS\_rﬂgefﬁaﬁ‘lﬁmax@
STET T SRR hat gt |

3. gfe g, FﬁTrueaﬁgreatests foree & SiisT 97T §, 3UUT False Gﬁ'sTGﬂ?-lT%l

4, 39 H, greatests fore &t Re=t fehar STmar €, St g geifar € foh & § 9= extraCandies Siig & 91¢ 998
TE] el dTet < &1 Hehd 8

00000(00000000().000000000000000([2,3,5,1,31, 3))

## 1672.

> mx n’ “accounts” “accounts[i] [j]° “ith° “jtht *
>

> *k Kk *k Kk

" “python

class Solution:

def maximumWealth(self, accounts: [[int]]) -> int:

X%



max = 0
for account in accounts:
s = sum(account)
if max < s:
max = s

return max

39 & ot 5 & guemd:
I8 Ueh 000000 &9 Solution & fOH9H Ueh AUS maximumWealth &1 I8 AUS accounts ATH Uah 200 fore (St fop
ZEOR &t foreed ol forwe 8) @l 314 & U H a1 & 3R Yeh ISR deg Re sz &1

1. max A% U dRUset &l 0 T sfRaersst forar mam g1 a8 aRkuse sifderad e (000000) ot €WR S|
2. accounts o & Y& account (St foh ta foe 8) & forg:

0 s 9™ aRTEA | account forke & it gfered @1 aiv (000) &R forar ST &1
0 U%maxiﬁaﬂs@W%,?ﬁmaxaﬁsaﬁwmmmmél

3. 3id #, max &l deg Re &t Srdt 8, it foh =it @7t (00000000) & ¥ sifderas o= (000000) it &=1idt 81

39 UGhR, I8 ther™ f&Q 74 @rdl (00000000) # ¥ Ged 31fdes 9= (000000) aTet @1d Y A ht gaar & ik 38 Red
FHRAT B

39 pis ol fFE & IHEIRT SITQ at:

g IS Ueh Solution T th maximumWealth HYUS i ehict R T & 3R 39 Uah 20 foe [[1,2,3],[3,2,1]1]1 U
TR IET 8| T8 fore &t urgapl i Gufxy ol go1fdt 8, STet s UTgah ot uf Ues fore & §1 331801 & foig, uget g
Fr Tufar [1,2,3] & SR R T8k di Iufx [3,2,1] Bl

maximumWealth AUE T I5T 39 UTgehl chl Bl HUf Y TUHT AT 3R Fard 3ifdes Ul aret T1geh ot ot Ul
! ITIY HAT B

Y hIE ol T A W, T§ maximumWealth HUE o IYE ot flie e, STt foh Te a1fdes dufxy aret Umges 6t gt
Huf ghft
1470. T &l AFRA H

fear mar € 2n d arer 9Roft nums, S [x1,x2, ..., xn,yl,y2,..., yn]a?%_\qﬁ%l
ol &l 39 9 H el [x1,y1,%x2,y2, ..., xn,yn] |



class Solution:
def shuffle(self, nums: [int], n: int) -> [int]:
nsl = nums[:n]
ns2 = nums[n:]
ns = []
for i in range(n):
ns.append(ns1[i])
ns.append(ns2[i])

return ns

29 dig #, Solution & H shuffle THe Teh AUES @ Sff & ;IR Y & nums (Teh S8R fore) 3R n (T
3EIR) | I8 AYS nums fore i &t fgl & diedt 8: ns1 3R ns21 A I8 37 a1 fgwdt & gferdcd @t gar 35 fole ns
H IRI-a) & SIS & 3R 3fd | 39 718 forke ot Re e 8l

0oooo(oooooooo().ooooooo([2,5,1,3.4,71, 3))
## 1512.

> “nums”

> “(1,3)° * ok “nums[i] "~ “nums [j]° it o< T

" “python
class Solution:
def numIdenticalPairs(self, nums: [int]) -> int:
j=1
n = len(nums)
p=20
while j < n:

for i in range(j):

if nums[i] == nums[j]:
p+=1
j+=1
return p

10



Ig IS Uoh TATY UG Shedl & i Yoh JdT § 99 Ganasl & Sivs (00000) & et f9dT 81 I8t nums Teh uTieh!
HI gt 8, 3R numIdenticalPairs haRH 39 gt # TAH TS o g i T dlerdm gl

IS 1 fAeror:

j @l 1 ¥ = fRaT SI1aT 8 3R n & Gt nums Fi @12 & €U F e fohar Sirar 81
p I 0 T & vt ST 8, S T8 SIS chl WA ol AUpId hT|

Qeh while U Sl JUANT Tech, j i n ¥ A A deh TeIT STl 8

Teh for U T JUTNT &ech, i &t 0 & j-1 dh Il SITal &

Tfe nums [i] Gﬂ?nums[j] G’H‘Hg,?‘ﬁpaﬁ1 T J&rT ST 8l

3 #, p I e a1 8, St GHE SIS HY Hof AT i EATaT B

o vk N =

Ig ohis A Geerstl & qff Gonfaa s i T Y 10T ST g

00000(00000000().00000000000000000([1,2,3,1,1,3]1))

## 771.
> 1 Tjewels” ) s “stones” “stones”
" “python

class Solution:
def numJewelsInStones(self, jewels: str, stones: str) -> int:
n=20
for i in range(len(jewels)):
js = jewels[i:i+1]
n += stomnes.count(js)

return n

39 P H, Solution ATHS U T & fO9H numJewelsInStones ATH Ueh RYS g1 I8 AYS &l [T jewels 3R
stones &l 37Y¢ & &Y & AidT & 3R Teh §EIoR deyg R dear g1

Y HYUS I e TG STiaT g foh stones RETH jewels KT & fohda dheeed Al 81

1. n 7T b ARTE bl 0 T sAfAaesst fovar Sar 81

11



Toh U jewels & & & heaex o folq I ST 81

vk W

js ARUITA F jewels E FI ada™ hicer ©R fohar ST 81
stones@ﬁjsmﬁwmwgaﬁ?nﬁ@gaﬁﬁﬁél
aﬁﬁ,naﬁﬁﬁmmg,Gﬁstonesﬁjewelsa?aﬂﬂiﬁ@maﬁaﬁha‘l

00000(00000000().00000000000000000("00™, *0000000™))

## 1603.

>
>

> "ParkingSystem”

>
> - “ParkingSystem(int big, int medium, int small)” “ParkingSystem”
> - “bool addCar(int carType)" “carType” “carType”
"7 “python
class ParkingSystem:
slots = [0, 0, 0]
def __init__(self, big: int, medium: int, small: int):

self.slots[0] = big
self.slots[1] = medium
self.slots[2] = small

def addCar(self, carType: int) -> bool:
if self.slots[carType - 1] > O:
self.slots[carType - 1] -=1
return True
else:

return False

(U8 IS =diTeh &, 39 SruRafdd sis Rar mar §1)

12



0000000000000 = 0000000000000(1, 1, 0)

00000(0000000000000.000000(1))

00000(0000000000000.000000(2))

00000(0000000000000.000000(3))

00000(0000000000000.000000(1))

## 1773.

> “items” s “items[i] = [typei, colori, namei]” “ith°
>

> Tith” *k Kk

>

> - “ruleKey == "type"" ‘ruleValue == typei”

> - “ruleKey == "color"" “ruleValue == colori’
> - “ruleKey == "name"" ‘ruleValue == namei-

>

> ok *

* T “python

class Solution:

def countMatches(self, items: [[str]], ruleKey: str, ruleValue: str) -> int:

i=0

if ruleKey == "type":
i=0

elif ruleKey == "color":
i=1

else:
i=2

n=20

for item in items:

13



if item[i] == ruleValue:
n +=1

return n

g IS Yoh THIT ! § el & STgT ST items ATHh Teh et & ATt 8, T U Sigeq Tap gt gl & foras
type, color, 3R name -‘zrrﬁﬁagﬁ@ ruleKey 3R ruleValue o 3MYR R, aﬂuﬁwaﬁmﬁwﬁﬁﬁ?ﬁ%
STt e 7w fRo @ A @rd €1

0 ruleKey Ig ardm g foh fore Uudt (type, color, AT name) & YR TR A AT &1
0 ruleValue g A g S Q1 e &z 81

PIs &1 W ARG & 1. ruleKey & STYR R Ig FUiRa &har & & itens & v 89 (0, 1, a1 2) &Y w1l
HT 81 2. TR U8 items 1 Glt A T Uk MgeH hl ST el ¢ 3R ST ¢ o T I 311ged o1 wafad 8
ruleValueaEER'lTsR%I&qﬁﬁaﬁ?ﬁmi?ﬁniﬁmwam%l4.ﬂﬁﬁ,naﬁmmmmg,ﬁﬁﬁm
A gTet INTgerT I TT i g2 Bl

00000(00oooooo().0ooooooooooo(f[“ooooo™,*oooo™,*00000™],[*00000000™,
“00000", “o0ooooo™))

## 1365.

> ‘nums” “nums [i]° , “nums [i]° “j's”
>

>

>

> : nums = [8,1,2,2,3]

> : [4,0,1,1,3]

>

> nums [0]=8 s (1, 2, 2 3)

> nums[1]=1

> nums [2]=2 s ¢D)
> nums [3]=2 R 1)
> nums[4]=3 s (1, 2 2)

14



*T "python
class Solution:
def smallerNumbersThanCurrent(self, nums: [int]) -> [int]:
ns = []
1 = len(nums)
for i in range(1):
n=20
for j in range(l):
if i 1= §:
if nums[j] < nums[i]:
n +=1
ns.append(n)

return ns

g i Toh Gt nums H f&U 74 U T & iy 362 Bl Hwersii &t Tt fiar g ik 39 Teh 18 ot ns & Sugla
T ¢ | 37 H, Ig Gt ns I a0 Alerdr gl

00000(00oooooo().0000000000000000000000000([8,1,2,2,3]))
528ms , 11.81%

" “python
class Solution:
def smallerNumbersThanCurrent(self, nums: [int]) -> [int]:

1 = len(nums)

g ohis Ueh 000000 T Solution ahl URMING oedl & f9H Ueh AUS smallerNumbersThanCurrent g1 I8 HUS

Teh 399¢ folRe nums &1 8, St guifert (00000000) &Y geh Gt 8, 3R Toh smeeye feree Rer aear &1 seeye fore &
gdeh dcd g ST & foh 39ge fore & 39 d@ 9 8¢ fohd= a@ &1

31+t I8 TR 8, 3R 38 T B o oy SR Affoieh Sitga i sasaendn g
sort_nums = nums.copy()

ins = list(range(1))

for i in range(1):

15



for j in range(i+1, 1):
if sort_nums[i] > sort_nums[j]:

a = sort_nums[i]
sort_nums[i] = sort_nums/[j]

sort_nums[j] = a

a = ins[i]

ins[i] = ins[j]

ins[j] = a
smalls = [0]
for i in range(l, 1):
if sort_nums[i-1] == sort_nums[i]:
smalls.append(smalls[i-1])
else:

smalls.append (i)

fed) =are=a:

1. ins = list(range(1)):

0 Ig PiS ins ATHh Teh el TG & fOITH 0 & 1-1 9k & AR 8ld &1 Tg Gl JeT $3 ol WR e o folg
IUANRT &t STt gl

N

. Eﬂ%ﬁqq(for i in range(1)):
0 g8 U i bl 0 & 1-1 ek TeTdT | T8 AT & Udeh dcd ohl Yeh-Teh ehich AT 8

w

. Gl'i?lﬁa??fl(for j in range(i+1, 1)):
0 I8 U j I i+1 H 1-1 dch IATdT 81 T§ i o I1G o G dcdl ol AT 81
4. @ft (if sort_nums[i] > sort_nums[j]):

0 ’Clﬁ'sort_nums [i] opT HF sort_nums [j] @aa%,a‘raﬁaa’raﬁﬁq%mmél g% 1Y &, ins
T 7 oft Geifda S ot T foRar srar 81
5. smalls = [0]:

0 I8 smalls =Tk Geh Yot ST & fOraH ugert d 0 gidT 81 I8 Gl ®I dal dhl T i @R & & g
U I St B

[¢)]

. QO (for i in range(1, 1)):
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0 Ig U i I 1 ¥ 1-1 d I 81 I YT o Uk d<d hl Yeh-Ueh hich T 8l
7. if sort_nums[i-1] == sort_nums[i]:
0 afe g da 3R fUser ad T8 €, dt smalls Gt # IS ac ol A9 ST ST 81

8. else:

0 ik adame a@ iR e da I9H 781 §, df smalls &t A i &1 A ST ST &

29 IS hT IeF sort_nums I ! HI¢ AT & R 1Y 81 ins I A ol 3T ol Y 3uSe &1 g1 39 aTg,
smalls I & ag WK fohar Srar & o fohaw @ ada= a@a @ 8 81

r_is = list(range(1))
for i in ins:

r_is[ins[i]] = i

ns = []
for i in range(1):
ns.append(smalls[r_is[i]])

return ns

g IS o fole r_is SAIAT g STt 0 & 1-1 ek hl Tmsif @ 9 gidl 81 fhe I8 ins forke o A1eqs @ U ohxar & 3R
r_is fole &l 31uSe a1 g1 3id H, U8 smalls e @ O AR Tep 718 ol ns IATAT & SR I aTUg ohedT 8

00000(00000000().0000000000000000000000000([8,1,2,2,3]))

“284ms” "528ms”

*T“python
class Solution:
def smallerNumbersThanCurrent(self, nums: [int]) -> [int]:
sort_nums = nums.copy()

sort_nums.sort ()
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ns = []
for num in nums:
ns.append(sort_nums.index (num))

return ns

39 Bhis ol iget & ausm:
TE IS Uh I Solution i TR el & fS9H Teh AYS smallerNumbersThanCurrent &1 I8 HYE e STYC

foIe nums a1 8, St guiferl (00000000) &t Uak feree &, 3R o 3y ferke Reet ot & forad udess aa & ferg ag
=1iar ¢ foh e foree # 39 dc @ e fhas ac €

1. sort_nums = nums.copy(): Ig ATE nums foike F T Ut FTCT § 3R 3 sort_nums H LR &l 8l

2. sort_nums.sort(): Ug <134 sort_nums fore Y 91 hdl €, Tt 29 SIRIg! A (0OODOOooo ooooo) 7
AT e 8l

3. ns = []: I8 Uah @rell oI ns &t sfAfersst sl & St sifaw aRum @k &ft

4. for num in nums:: ug@qnmsm%maa%%qmél

5. ns.append(sort_nums.index (num)): Tg <IlSH sort_nums o & num F 2T EF?[W % 3R g9 ns fore
ﬁﬁﬁ?_,?ﬁ%lE;[ﬁ-?sort_numsGﬁ'g%,Qﬂﬁ?numiﬁf's"gER?HgEQﬁ%ﬁ?numsmﬂnumﬁ@éﬁﬁﬂﬁgl

6. return ns: aﬁﬁr,ugaﬁqnsﬁizaﬁﬁz——faﬂ?ﬁ%,ﬁaﬁmm%%ﬁ@%a@ﬁmﬁ?ﬁél

3101 & g, afe nums = [8, 1, 2, 2, 3] &, o sort_nums 87T [1, 2, 2, 3, 8]Ins fore & udes da &
%’Qsort_numsﬁﬁﬁé@ﬁ%ﬁ’ﬁ,ﬁ[& 0, 1, 1, 3l e ggefarg¢frs @Bl 4da g 1ABC 0T g, 2
T Bid 1 d g, 3R = a=El

00000(00000000().0000000000000000000000000([8,1,2,2,3]))
“64ms” “T1%

* T “python
class Solution:
def smallerNumbersThanCurrent(self, nums: [int]) -> [int]:
1 = len(nums)
ns = [0] *x 1
for i in range(1):
for j in range(i+l, 1):

if nums[i] > nums[j]:
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ns[i] +=1

elif nums[i] < nums[j]:
ns[j] +=1

else:
pass

return ns

3@@33}, SolutionWﬁQﬁﬁﬁ‘d—é smallerNumbersThanCurrent %Gﬁqiﬁmnums éﬁT%Gﬂ?Qiﬁqg%Rns
e AT 81 ns H U 339 TR I8 T&AT gidil g STt &2ATdT & b nums & 39 SS9 oh! T 9 BT fohd-t =AW 81

3eTeX0T & folg, afe nums = [8,1,2,2,3] 8, At ns 8N [4,0,1,1,3] | I8 39y Hifh: - 8 A B TN 8. 1, 2,
2,3(pc4)- 1 DA RS TN TR & (FA0) - 2 A BE T 1 (FA 1) -2 A BE T e: 1 (Pt 1) - 3T B
=g E: 1, 2, 2 (F1 3)

2 i # &1 ARE o ¢ St nuns forke & g3 S1S &l g1 ad § 3R ns forke ot 3rude &ed €1

00000(00000000().0000000000000000000000000([8,1,2,2,3]))
“400ms "

“*“python
class Solution:
def smallerNumbersThanCurrent(self, nums: [int]) -> [int]:

ss = sorted((e,i) for i,e in enumerate(nums))

u%'aﬁ's'qa? Solutionmaﬁqﬁ‘lﬂmmgﬁmﬁ@ﬁ% smallerNumbersThanCurrent %I u‘gﬁu‘sqzﬁgqu
o nums AT & 3R Tk 3m3eye ferte Rew wear ¢ i v gfee & forg ag Jaman Sirar & o 399 81 fohaa
gferdea g1

ss IRQIA H, nums foe & Tferdcy ol I §3a9 & T1Y Sigae I1E fhar SITaT 81 I8 Tifén Yfeicd & A & STUR
TR gidt g1

Hga'ﬂ—s'qiﬁﬁ?ﬁnums Eﬁmlmgeﬁ?m@:ﬁflﬁﬁ smalls EFI'IT-IT%I smallsﬂ?ﬁﬁmm i
forq, o SifadT & foh ss Gt A fUse $3a9 i-1 3R adHH §369T i & dd €0 3R o1 TAM ¢ AT 61| I I TAM €, at
smalls § fUSe §8a -1 oI A SNST ST &1 Afe & G 81 8, df smalls & gdH 3899 1 SST ST 81

&t & gu=e:

1 = len(nums)

smalls = [0]
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for i in range(1l, 1):
(e0, jO) = ss[i-1]
(el, j1) = ss[il

if e0 == el:
smalls.append(smalls[i-1])
else:

smalls.append (i)

S 1S T I8 smalls YAl i 39 a8 I W=A1 ¢ o AfE s Tt A MR & dca 96 8, af smalls H I S8 ar
A SEI™T 1Y, ST 947 §3a9 SieT Y|

ns = [0]*1

for i in range(1l):
(e, j) = ssli]
ns[j] = smalls[i]

return ns

g oh1S Toh Yol ns Pl Y W URH &l & [STeh! dia1s 1 81 FOh I8 Ueh U o ATeAH & ss ol & U dcd ol UgdT 6,
SIgl Uk dd Ueh <Ud (e, j) 81 j ol JUANT ns Gl A §3a9 & ¥4 H a1 S1am 8, 3R smalls[i] T A ns[j]
H SreTe- foRaT ST 81 8id #, ns T I A9 Ateran Sid gl

00000(00000000().0000000000000000000000000([8,1,2,2,3]))

> : b2 , Python3 91.45Y " "
> : 14.6 MB, Python3 15.18% " "

! "91.45%"°

" “python
class Solution:

def smallerNumbersThanCurrent(self, nums: [int]) -> [int]:
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ss = sorted((e,i) for i,e in enumerate(nums))

1 = len(nums)

smalls = [0]

ns = [0]*1

for i in range(l, 1):

(e0, jO) = ss[i-1]

(el, j1) = ssli]

if e0 == el:
smalls.append(smalls[i-1])

else:

smalls.append (i)

ns[j1] = smalls[i]

return ns

00000(o00oooooo().0000000000000000000000000([8,1,2,2,3]))

" “python
class Solution:
def smallerNumbersThanCurrent(self, nums: [int]) -> [int]:

ss = sorted((e,i) for i,e in enumerate(nums))

HEEﬁEQEFWTH Solutionaﬁqﬁﬂﬁﬁm%ﬁﬂﬁqﬁﬁﬁﬂg smallerNumbersThanCurrent %I agﬁungﬁ%?d
nums 1 g 3R Yeh 18 foree Re aear & S udes giosie & forg ag guifdn & o g fore & 399 81 fohaw gfemem
H

ss ARTIA H, nums foie & Tferdcy Pl I §3a9 & T1Y Sigae I1E fohar SITaT 81 g8 Tifén Yfedcd & dF & STaR
TR I ST B

1 = len(nums)

last = 0

ns = [0]x1

for i in range(1l, 1):

(e0, jO) = ss[i-1]
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(el, j1) = ssli]

if e0 == el:
pass

else:
last = i

ns[j1] = last

return ns

IE hIS ns TS ol H j1 SS9 W last de hl IS Hedl & 3R R ns T l am0d terar |

00000(000ooooo().0000000000000000000000000([8,1,2,2,3]))

“40ms " s "99.81%"°
> : 40 , Python3 99.81Y% , "How Many Numbers Are Smaller Than the Current Number
>
> : 14.4 MB, Python3 15.187%, , "How Many Numbers Are Smaller Than the Current Nu
* T “python

class Solution:

def smallerNumbersThanCurrent(self, nums: [int]) -> [int]:

1 len(nums)

n [0] = 101

max_num = 0

for num in nums:
nl[num] += 1

if num > max_num:

max_num = num

g hIS Yoh G i gl e oh folQ & STgT 88 Toh Gl nums & ST ¢ 3R §H I8 UaT 11 giaT & foh uden g &
B deTsi} &hr g fehaHt 81

1. 1 = len(nums) -W@numsﬁﬁ@ﬁlﬁ@?ﬂ%l
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2. n = [0] * 101 - I§ U AT n TG & fS G 101 g g €1 a8 et dersii dh et ot &R A & forg
U I St

3. max_num = 0-qgaﬁqaﬂmax_numalﬁoq?@?m%,ﬁ{tﬁﬁﬂa@a@maﬁaﬂiml

4. for num in nums: -ugqqa;ﬁnmsﬁméwasﬁqwﬁ

0 n[num] += 1-%@@Tnmaﬁﬁlﬂﬁiﬁ$ﬁnﬁmgl
0 if num > max_num: -Wm%ﬁ?waﬁqﬁmnmWﬁiﬁma@mmax_num@aﬁgl
- max_num = nm-ﬁﬁ,ﬁmax_nmiﬁaﬁqﬂwnmmmmgl

S IS Pl e I & foh 87 Udch &A1 o folq g udT ol Teh ok it # 399 BT fohdt T=amd 81

sm = [0] * (max_num + 1)

sum = O

for i in range(max_num+1):
sm[i] = sum

sum += n[i]

ns = [0] * 1
for i in range(1):

ns[i] = sm[nums[i]]

return ns

00000(00000000().0000000000000000000000000([8,1,2,2,3]))

" “python
class Solution:
def smallerNumbersThanCurrent(self, nums: [int]) -> [int]:
1 = len(nums)
n = [0] * 101
max_num = 0
for num in nums:
n[num] += 1
if num > max_num:

max_num = num
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IE IS Uh I Solution Tl IR e & fS9H Teh AUS smallerNumbersThanCurrent &1 I8 HYUS Ueh SAYC
e nums a1 & 3R Tap 33y fere Rest ar & oo udas gfermie & forg ag adman Sirdr & fos 392 81 fohda e
gl

1.1 len(nums):wmnumsiﬁmiﬁlﬁlﬂ?mgl

2. n = [0] * 101: T fore n 4711 € ST 101 wfode €, aoft = # 0 @ sfifaensst gia €1 ag fore vads
FeR T thierdt et &R &Rt

3. max_num = O: max_num&&?ﬂﬁﬁO@gﬁmW%,ﬁwmﬂma@ﬁwaﬁaﬁml

4, for num in nums: gqgaﬁenumsﬁu?&mq%ﬁ?a?%qqqmél

0 nloum] += 1: n foRe & num 3T W I ot 1 & S=hHC AT 8, T8 num FI e Pl ¢k FHar gl
0 if num > max_num: max_num = num. If¢ num max_num@ﬁl??T%, H’fmax_numaﬁnmnaﬁmﬂlm'{
HAT B

g ohis It T 181 ga 8, A ug 37qe forke # e AR o thied ! 3R Tat 98 ek &l &b I @1 8

short_n = []

short_num = [] * 1

zn = [0] * 101

j=0

for i in range(max_num+1):

if n[i] > O:

zn[i] = j
short_n.append(n[i])
short_num.append (num)

j+=1

g i Ueh YAl short_n 3R short_num sl TRH T &, 3R Teb AT zn &l 101 Y AFT & 1Y URH ohdl gl fhe
Ig max_num+1 deh eh U IATdl &1 A& n[i] ST AM 0 & 31k &, dt I§ zn[i] Sl j & A & Y HAT &, short_n
Hnli] Eﬁmg,ﬁ?short_numﬁnmﬁmél S—THﬁ,jEB}'I @ERER:ITGTTHT%I

sm = [0] * j

sum = O

for i in range(j):
sm[i] = sum

sum += short_n[i]

ns = [0] * 1
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for i in range(1):
ns[i] = sm[zn[nums[i]]]

return ns
g s AfefEa wrf arar g

sm e Geh el I18 St & Fored j L g 8

sum AT Ueh dRUsA ot 0 R e fohar STraT 81

Toh U j IR Ie1dT & 3R sm G & sum T A STeAdT &, O sum & short_n[i] &l ST 8l
ns A Geh G 18 STt 8 fored 1 g 8id 81

Wﬁqlaﬂmgeﬁ?ns li?ﬁffsm[zn[nums[i]]] T 9T STeIdT g1

3 H, ns Gt ol U9 AT ST Bl

o v kA W=

00000(00000000().0000000000000000000000000([8,1,2,2,3]))

" “python

class Solution:

def smallerNumbersThanCurrent(self, nums: [int]) -> [int]:

max_num = max (nums)

n = [0] * (max_num + 1)
for num in nums:

n[num] += 1

sorted_1s = []
for i in range(max_num + 1):
if n[i] > O:

sorted_ls.append (i)

u%aﬁgqa?@?vﬁajﬁ sorted_lsW%Wﬁﬂo@max_numﬁﬁgﬂﬁ#ﬂﬁﬁmqqmgl gfe nli] (Tt
n Gt 7 i §S R HIS[G HH) 0 F FT 8, af i &l sorted_1s Fat A Siig faam SITam 81 39 @, sorted_ls il # 37
E3 & A A gId 8 ik g n =it & 9 0 F 1fdes giar 81

sm = [0] * (max_num + 1)

sum = 0

25



for i in range(len(sorted_1s)):
v = sorted_ls[i]
sm[v] = sum

sum += n[v]

ns = []

for i in range(len(nums)):
ns.append (sm[nums [1]11)

return ns

# print (Solution().smallerNumbersThanCurrent ([72,48,32,16,10,59,83,38,1,4,68,7,67,16,5,35,99, 15,55, 11,2

A

0 B SR [T 7Y IaT6R0T i a¥E F© T ol o e Tohd &
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